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Topic:- Child Development & Pedagogy (CDP)

1) Which of the following statement is true? / fHff@d # Q H19 T YT T 82
1. Growth is only a mental process. / q@ Had U ARG Ufehar g
2. Heredity doesn’t affect on learning process. / 3IaifRIddr iEATH Ufehar &I gHTfad 8! x|

3. Development is only a quantitative process. / AT Had Ueh HETES Uil |

4. Learning is a process of behavioral changes. / 3{fRTH TagIRE URadHl &t ufshar g |

Correct Answer :-

« Learning is a process of behavioral changes. / 3{fRTH HTdEIRE gRadHl &t Ufshar g |

2) How many clinical scales were there in the original Minnesota Multiphasic

Personality Inventory (MMPI)? / §d fiRter aed it ie ueinferd) sdedt (wuuadiarns)
IELEEMIBCAIERE

1. Nine / Cll
2. Eleven / TORg
3.Ten/ ad

4, Twelve / dIRg

Correct Answer :-

3) Which one is NOT the Psychological principle of teaching? / ﬁ?WWﬁT&I‘UT Cai
T Rigid T8 82

1. Proceed from known to unknown. / S JTd I SIITd Pl 3R dedl %I

2. Proceed from simple to difficult. /G‘ﬁ IR A BIS Bl 3R W%l
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3. Proceed from complex to simple. /\_rh SIfed ¥ TR Bl 3R WT%I
4. Proceed from concrete to abstract. / il ¥ | J&H DI 3R Fedl gl

Correct Answer :-

e Proceed from complex to simple. /Gﬁaﬁaﬁwﬁ GﬁTEIE_dT%I

4) Inclusive education is currently a strategy of education based on the based

approach. / TN RIaT adA & anenRa edwIon F 3R WX Rian 3t vw w31
1. Sympathy / FgYfd

2. Charity /@M

3. Apathy / I&RIHdT

4. Rights / 3fIDBR

Correct Answer :-

. Rights / ATPR

5) Gender Schema theory was introduced by ./ o wotar (ﬁ:"ﬂ' FlﬂTIT)
Rrgid & gRTuwga fosar man o

1. Jean Piaget /i foaret
2. Kohlberg / ﬁ_&fﬂaﬁ

3. Erikson / Qﬁ_clﬂ:f
4. Sandra Bem / “vTIETaT[

Correct Answer :-

« Sandra Bem / wéﬂ

6) According to Vygotsky’s theory, the most suitable instruction to support social learning is

o ./H@ﬁﬂﬁ%ﬁm%m,wﬁwm%mﬁwﬁ%mmm
|

1. curriculum / UT&dshH

2. students work together on the task / &1 m TR Uh Y Hh[H Hd % [

3. students’ individual work / E9I>I\I'$ OLIIrGTrl‘Id ObIJ

4. traditional teaching / TRUR fRrefor

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

« students work together on the task / ST FH R Th Y hTH B % [

7) What are tests that rely heavily on language based reasoning called? /

O UI&10T T HEATd & Sl HTST MR dherfad iR R &3 82

1. Accuracy tests /QIQ‘\{!Qal PR
2. Culture fair tests / G A D UI&TT

3. Verbal tests / ]ﬂm qﬂ&‘I'UT
4. Nonverbal tests / Tidh T TRI&TT

Correct Answer :-

o Verbal tests / ﬁ'@a; tlﬁ&WT

8) What aspect of personality makes a child more likely to be outgoing? /

Afeied & [P Tgq | 728 & ey (i 9 #t Turaer 96 ot 82
1. Extraversion / Sfgq@dl

2. Introversion / ST

3. Socialisation / JHTSIHT

4. Neuroticism / HT{[%T%
Correct Answer :-

 Extraversion / Eﬂ%ﬁ"@?ﬂ

9) Bandura’s 4 principles of social learning are: / TS U & m & 4 Rygia HUPR %
1. Metacognition, Attention, Engagement, Motivation/ ﬁ?@ﬁ"ﬂ:{, [, 9 sld, RN

2. Retention, Cognition, Attention, Motivation/ EI'I%T?JT\"UT, \}Iﬂ'{ﬁf, T, TR

3. Attention, Retention, Reproduction, Motivation/ ¥, ﬂﬁw, TSl RO

4. Attention, Engagement, Collaboration, Motivation/ ®T-, JgId, ﬂ%’lﬁﬂ, URUT

Correct Answer :-

 Attention, Retention, Reproduction, Motivation/ &I, cr%w, Toi-, RO

10) Adolescences form their own image and integrate their own ideas as to how they wish to be

referred to, this is /%@?MWE%%‘%W%@?WW%W@W
¥ & % 3 v ave weifa g1 ared €, 95 weaman &

1. Crisis / g&bc
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2. Ego identity / 38 Ugd
3. Ego ideal /318 3 gl

4. Ego/GI'é'

Correct Answer :-
» Ego identity / 3¢ Ugd

11) At what age does the child learn to control the expression of emotions? / YraA13Mi ot Srfireafad
&I frfa &1 s {5 omg & Wraar 82

1. Adolescence / forRIRTaRIT
2. Birth to two years / STH qq Iy db
3. Late childhood / U STedTdRT

4. Early childhood / URf¥& sTeamawT

Correct Answer :-

« Early childhood / URT¥eh STeama=T

12) Which of the following theories acts as a bridge between behavioral and cognitive learning

theories? / fFraffaa & @ ®1- w1 R sgasR ol dgmTar® R Rigidl & S e Ay
BT HTH BT 32

1. Humanistic theory / Hgdrara (WW) g

2. Cognitive development theory / GRS faenr T
3. Social learning theory / JTHTD HTOTH R

4, Existential theory / 3T Rigrd

Correct Answer :-

« Social learning theory / ITHTSTE SHfERTH RigT

13) Which of these statements is true with regard to aptitude and competence? /E:I'elﬁ PI-AT

HY TTGT 3R AT & Jao A ToI 22

1. Aptitude is an inborn potential to do something. / P& PA D forg gl Th STHId GHTIAT

(PTEHA) B
2. An aptitude is a developed knowledge. / IgdT U famRid 9 %I
3. A competence is a part of an aptitude. / &Hdl TYdh Tl BT Tdh %WT %I

4. A competence is an inborn potential to do something. / $& HR b QIU &HAT T STHSITd HUTGT

(BTHE) &
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Correct Answer :-

« Aptitude is an inborn potential to do something. / P& PP 1%112 Qg Th STl GUTIA]

(PTH&H) B |

14) Who introduced the term L.Q. (Intelligence Quotient)? / fra= 3ms. &Y, (§f Suarsan ug &t
ufaufea far?

1. Terman / <H

2. Galton / ee

3. Binet / fade

4. Guilford / FreTTs

Correct Answer :-

o Terman /THT

15) The psychologist who discovered that children’s perception of reality is not learned from adults

but is constructed is: / 98 ANAIA® ORI TdT AT {6 T P IRAIPdT B YR TUTHT A
T81 He St B, Afp= g3t fAwtor far wirar g 3 €'

1. Jean Piaget / S foamst

2. BF Skinner / &I Uh PR

3. Amold Gesell / 3TeS T1d

4, Howard Gardner / E%ﬂé MR

Correct Answer :-

 Jean Piaget/ S foarst

16) During which stage do children start reasoning? / ford /a1 & ¥= T BT = B &
1. Adolescence / frRIRTaRIT

2. Late Childhood / 3R dTedTaRT

3. Infancy / QrETaRIT

4. Early Childhood / Jd STeama=l

Correct Answer :-

e Late Childhood / 3R dTcdTdRT
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Teachers should take a/an rather than group perspectives when
considering diversity in the classroom. / D &lT A fafgear w faar #=a THY,
Rrerel oY T & TRHIU & g9 D & P B & T@
dIeul|

1. Group factor / JHg PRRD
2. Opinion / AT

3. Student / ST

4, Individual/m

Correct Answer :-

« Individual / G

18) Which of the following is not an aspect of metacognition? / Fafafaa o &
T b (HSTHRAIRI) BT TH Ugq 8l 82

1. Altering consciousness/dT H AT

2. Revising cognitive strategies/SITH® U BT HNTAT HIAT

3. Planning cognitive strategies / JTATH®D U &t TTHT ST

4. Monitoring cognitive strategies / I D UG B TR AT

Correct Answer :-

« Altering consciousness/dd-T H ]

19) Which of the following is not true about the teaching process? / rafafaa
# Rreror ufhar & R § w1 I T8 82

1. Teaching is the process with a purpose to bring about learning. /QT&TUTW B%Qq & 1Y
e &t ufshan g |

2. Teaching does not sway the whole process of learning. /fQT&I'UTff &Waﬁwm:@[
gl gl

3. Teaching does not need a formal set-up. /ﬁT&I'W%ﬁ'IH aﬁwhqﬁuwaﬁ Wﬁ
gl

4. Teaching should be centred around student. / RI&0T BT & 3M9-UN digd gHT 9Tl

Correct Answer :-

« Teaching does not need a formal set-up. /@T&‘WT%%IE W@&Wﬁﬁ &Wﬁ
gl
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20) Which of the following does not apply to the brainstorming process? /

Frufafaa & @ s fRer fawef ufear & fore arg =) gar &2

1. Generation of unusual ideas. / FFHTT fATRT BT For |
2. Criticism of ideas. / faaRI ®t 3Tl

3. Associating different ideas to come up with a new one. / =TT & 1Y 34 & foru fafi oot &
S ST

4. Quantity is more important than quality. / J[UTd Edl SNEL o T 3 W%I

Correct Answer :-

« Criticism of ideas. / faaRI &t TA—ATI

21) According to Martin and Halverson, when young children observed gender inconsistent
behavior, they tend to have:

/ HIFEA 3R BRI & UK, 9d BIe T 1 ol & SRITd SAa8R FT Saaid o,
<t 3T 98 ugfa &

1. A distortion of memory/ Fﬂﬁf Cdl m
2. An accurate memory / U Ids Fﬂﬁ‘l

3. A rejection of the behavior/ dgIR Gl @Wﬁf

4. An imitation of the behavior/ oddgIX ﬁ b ]

Correct Answer :-

« A distortion of memory/ Fﬂﬁl il ﬁ?ﬁf

22) What problem do children with anorexia nervosa typically have? @ﬁm aarenT

afra o= 31 fafRre w0 3 w1 wuw gl 82
1. Problems with impulse control / {TaT F+a=01 & T1Y JU
2. Problems with body image /RRR UfaH & 91y JHmg

3. Reduced physical exercise / PH R AP ™
4. Excessive eating / HATYPH U HRAT

Correct Answer :-

» Problems with body image / TR Ui & 1Y JH=ng

23) What is more likely to help a child remember a story by Tagore? /AR gRTTP HET
I TG 7@ H 9 D1 Hag YA DI AU THTGHT T 52

1. The moral of the story / g =t &1 Afd®
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2. The size of the story / B! BT HTHR
3. The font of the letters / 3{&R] &1 B

4. The colour of the title /Qﬁ'w Gk

Correct Answer :-

« The moral of the story / g &I EILED

24) Eliminating caffeine and sugar from diet before bedtime ensures - / 1 4 Ugd 3MER 9§

FEH SR N B FUTE BT 3@ YA PR R
1. Reduction in stress / d-1d H &H!

2. Good functions of muscles / HIAUTRT & dgdR UH

3. Good sleep / 3! Hig

4. Good absorption of nutrients / UIN® dedl T 3BT TN

Correct Answer :-

» Good sleep / 3] Hig

25) How information is typically stored in semantic memory? / 3{H TR

i Wfa (Rrifes A9 # oo} $& Judia gt 22
1. Networks/HCaa|

2. Skills/ DI

3. Tasks /@71

4. Groups ﬂﬂ:@f

Correct Answer :-

. Networks/w

26) CANCELLED

Which chart shows that the highest return of investment in education is maximum during the early

years? / PI-HT 3ATRW SR & P Y3melt auf & SR1 e & o= 1 Red sifpau 32
1. Heckman’s / %ﬁq
2. Wisconsin’s/ faxaIf=a

3. Hurlock’s / BWVW
4. Puberty’s / BIGEG|
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Correct Answer :-

e Heckman’s / %ﬁq

27) Mild retardation is a category of mental retardation having an IQ of .

| UG Hedl AARe Y S AN R/RA &1 sy g 81
1.70 to 89 / 70 ¥ 89 dh
2.201029 /209 29 dh
3.50 to 69 / 50 ¥ 69 b

4.30t0 49 /30 9 49 A&

Correct Answer :-

. 50t069 /50" 69 dH

28) To improve the problem solving skills in children, which of the following

things can be done?/ T= & WS P! G & DI T JUR H F g,
frafafaa o & @ar fFar s awa 32

1. All of the above / SURT T

2. Invite children to talk or write about ideas only / $had faaRl & R F a1d - a1 fore- &
foIq o=l o1 STHEd B

3. Ask children to draw pictures for stories only / el ¥ Hdd Hal-1dl & [o1Q < §9M Pl Fg |

4, Use blocks and models only / Had sl 3R ATSH BT IUTNT BN |

Correct Answer :-

o All of the above / mﬁﬁ Tt
29) Inclusive education means: / GHTARN fR1&M &7 31 8:

1. %ducation for all children in school. / ¥%a ¥ Tt st & forg fRrem | Tama=h fRiem &1 srdf

2. Education of intelligent children. / i a=i &1 fRraf|
3. Education of the poor children / TRl CEICHREI]
4. Education of the minorities / 3/cIaBH! BT &

Correct Answer :-

. %ducation for all children in school. / Tpd & Tt s=ai & g Ruefm| wwma=h fRrem &1 o


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

30) GAD stands for: / STl &7 314 8:

1. Genetic Anxiety Disease / &naa% a3 (@Iﬁﬁﬁﬁ Q\_rﬂgipf %?ﬂﬂ)
2. Genetic Anxiety Disorder / 3TIaRI® RidT fd@R (SHfew Tomze! fewsiidR)

3. Generalized Anxiety Disorder / ?I'ﬂzl'l?ﬂ% IEGIACEAR (S RaTSSs U G||$é| %Wﬁ)
4, Generalized Anxiety Disease / W IEGIE SERNIESNS] EIE %@\_ﬂ)

Correct Answer :-

- Generalized Anxiety Disorder / TG fdl fAdR (TRAZss Togd! fEwiieR)

Topic:- General Hindi (L1GH)

1) R § Isriifer ufe Sy

et 9T FEd AYIR F, AR TS U
3% 3fd Ige ga ufeet €Y, 9@ e Uy verul
I gf S S 3@, SIRT-¥cY UsTu|
St U TR IR &, W Stea |
3T 3 7T B UTSE, Iad J g qRITI

o T Sfifa BY MY, o SR Srifa geTUl
I ¢RY <t g8 ‘R, S U 7 WifE Ja|
STT U= P UgHR H1Y YR WA AT U= $T Sk garge|
TY: “SIed UTY’ ST 1 g1 72

1. gHqd-fhrd A

2. STH I PIs g

3. Y1g Siarat gt

4. YTC fgardt 4t

Correct Answer :-

. gHA-fhRa A

2) &Rt & wrerfifa ufe amy

TYeh 919 Hed AYH &, GHER I UT|
5% 3Ifd IgR g Ufed &Y, 3@ TE WY g
9 gfS ol St 3, - weTul
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S Wa @R SR &, W fEa Siaa gl

3F 3T T B UIge, Iad 9 g WI¢I

o Tt SFfifa BY MY, o SR orfifa geTUl

ST ERA 1 T G, Sl UelT 7 e Jarg|

SWT U F UgHR AR IR A ard U= $T Sk ga1gC|
uH: ‘5 AfT IR g ufed & & Fr aread 22

1. 3T A PIS a1

2. IR AT TH B g |

3. IR HH U TET Bidl |

4. TS NIUGA A IR G

Correct Answer :-

- HAITRA AT IR 3

3) &R ¢ oI ufg Syl

Ui 919 Fed AYPR &, TANER 94 UQ|

7% 3ifa Ige 59 Ul &Y, 9 ¥ Iy v

¢t gfS o1 S S, - veTu|

S U TR IR &, W Staa )

3T 3 7T B UTSE, Tad J g IR

o Tt SFfifa BY MY, o SR Srifa geTUl

IS RY <t ¢ G, S U1 7 S qane|

SWd U F UgHR AR IR W ard U= $T Sk Ja1sy|
TY: 30T e T U’ H Mt fory 3y Pt 3R Jdbd B2 I 82
1. TSI ifgs &1 3R

2. Rl o ufas efviy &t 3R

3. 7% o A9 H Ug T Y Bl 3R

4. Tl 3R =18t

Correct Answer :-

. T & AI-ed § g T U B 3R

4) R & werifa g amy)
TYsh 919 Fed AYH &, GHER T YT
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3% 3fd Ige ga ufeet €Y, 9@ e Hy verul

I gf S St 391, SIRT-¥cH UsTu|

St U TR IR &, W 7 Stea 4|

3T 3T BT B UTSE, Iad J g qRITI

o T SFfifa BY MY, o SR Srifa geTUl

IS ERY I g G, Sl U1 7 SIS garg|
SUYad Ui P UgHR 1A YD 91 T U= BT Ik garsy|
T MU & AR I BT 4 Fa1 FHT A1MRT?
1. &Y 4 BT Urer B

2. TS 1 G O 3R TSI R D13 3T 7 31 |
3. TSIl & ferg fdehrg e |

4, JTSTEH BT UTe B |

Correct Answer :-

. TSI QY q 3R TS R Pl 3T 7 M S

5) &R ¢ wroifa ufg Syl

et 9T FEd AYPR F, TAAR TS U

3 3ifer TgR g ufedt &, 9/ T3 %Y veyl

941 3G St S I, S yeTa

St U TR IR &, W 7 Shaa 4|

3F 3 7T B UTSE, Iad 9 §d gRICI

o Tt SFfifa BY MY, o SR orifa geTUl

ST $RA N Y@ YR, Sl Ul A g gare|

SUYad UL T UgHR 1A YD 91 T U= BT Ik garsu|
W ML A frad arerd § o7 a1 3uA W= Vel &1 Ja fHar 82
1. Tt

2. @l=l

3. 3&d

4, 3= MUl

Correct Answer :-
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6) Bt & JeHifa ufe syl

et ST FEd AYFR F, FATGR FY UITI

$% 3Hfd IgR gd UlRd oY, 319 [ U UgTu|

T¢I gf S St 3@, SRT-1eH ysTu |

ST YA AT I &, IR Fa Staa g

3F U 79 B UTSe, TAd F g IR

I Y 3R Y 3y, & o orfifa gsTu

ST SR @ T R, WA U | A1fE gare|

ST UL $I UgH 1 TR WA aTd YA BT IR Ja1s¢l
" M = v AT T1gd | fre W a faam
1. IH Igd Bl

2. 16T i Bl

3. 31 HIHI &Y Bl

4. b YIS TRTH B

Correct Answer :-

. HIIGd B

7) &R ¢ wroifa ufg syl

T 919 Hed AYH &, GHER T4 UT|

3% 3f Iqe ga Ut &), o & Uy Teru|

¢t g o oY S, SNT-H3w e

S U TR IR &, W stea 4|

3F 3T T B UTSE, I9d 9 §d TRI¢I

o T Sfifa ®Y 3y, W 3R srifa geTUl

ST $RA N TR R, S Ul A A1fE gare|

ST UL $I Ugh 1 TS WA 9T YA BT Ik Ja1s¢l
u: H0T A MW F I SRT-T3Y UsTe’ 1 1 Aaad 82
1. YIT-He=T fHofaman

2. SN B Bl gl

3. BUTAHTI 1 ST BT

4. TR §dIIT

Correct Answer :-
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8) &R € wrorifal ufg amuy

et 9T FEd AYPR F, AR TS U
3% 3fd Ige ga ufeet €Y, 3@ e Hy Terul
I gf S S 391, SIRT-¥d UsTu |
St U TR W &, W 9 Stea 4|
3F 3(U T B UIge, Iad 9 §d RI¢I

o Tt SFfifa BY MY, o SR Srifa geTUl
ST O @ I R’ WA Ul A |A1E qane|
STTE YR $ UgHR A9 YR oH T U= $T Sk qarge|
TY: T U g B R WA 2

1. ST ATl B

2. Gy & forw

3. eNiidd HIRATS & [T

4. TIOT <1 GTC-<ITel S

Correct Answer :-

. T &1 gTa-a1d S

9) &R & wrerifa ufg amu

Ui 919 Fgd AYHR &, TAER 94 Q|

3% 3fd agR g ufeel &, 9@ T vy ugrul

941 3G St S I, SR yeTu

S U TR IR &, W 7 Shaa 4l

3F 3(U T B UIge, Idd 9 g RN

A R orfifa B oy, & R FfY goTUl

ST ERA 1 T G, Sl U1 7 SIS Jarg|

STT U F UgHR AR IR W ard U= $T Sk Ja1sy|
UY: $9 UG & 3fd H Uga et ‘3rIf & i o1 Fa1 a1 32
1. forifa &

2. Hifcfag

3. HifaRfga

4. 3O
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Correct Answer :-

10) &R & rerifer afe eme

T 919 Hed AYH &, GHER I YT

T Ifd TgY g ufed &, 99 Te 3 vere
T¢I gf S S 391, SIRT-¥cH UsTu |

St U TR IR &, W 9 Stea 4|

3F 3T T B UIgE, I9d 9 §d TRI¢I

o Tt SFfifa BY MY, o SR Srifa geTUl

I ¢RY <t g8 ‘R’, S U 7 WifE Ja|
SUT Ui P UgHR A9 YR oF T U= $T Sk qarge|
UY: 39 UG W WY g 0 B’ &1 3 32
1. o1 7 i XA 8|

2. fSFTT 7 RR @A B

3. 1 7 RR 8T | 5|

4. 1 D1 el 3R T

Correct Answer :-

. T DI FHal AR A

11) &R & Iroifa ufg Syl

et 9T FEd AYPR F, AR TS U
3% 3fd Ige ga ufeet €Y, o e Uy Terul
941 3 St S I, - yeTu
St U TR IR &, W 7 Stea 4wl

3T 3T BT B UTSE, Iad J g qRITI

o Tt SFfifa BY MY, o SR Srifa geTUl
ST O @ I YR, WA Ul | |A1E qane|
STT U= FI UgHR 1Y YR oA ard U= $T Sk qarge|
UY: 39 U¢ # IR-9R g fraes wer1 mar 82
1. Ra &

2. STCT St bl
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3. fawy &1
4. PU DI

Correct Answer :-

12) &R & roifa ufg syl

Tl 919 Hed AYDY &, JHER 99 UL

3 3 IR g4 ufee €, o T Y T

941 9 St S I, - yeTu

S U G IR &, W Staa )

3T 3 7T BR UTSE, Iad J g qRITI

o Tt efifa ®Y 3y, o SR srfifa geTUl

IS ERA It T G, Sl Uel1 7 e Jarg|

SUT U F UgHR AR IR WH ard U= $T Sk ga1sy|
UY: 39 HiadT & ‘AYDT’ g fhad fIQ ygad gan g2
1. 1R 3R M gRT Ia & forg; 31 81 98l &

2. P DI IRRA & forg

3. Fad 4R & fae

4. o UG gRT Igd & for

Correct Answer :-

- HIR 3R MG gRT S5d & ferg; <1 61 98l &
13) &R & rerifer afe emg

T 910 Bgd AYH &, GHER I YT

3% 3fd age ga ufeel €, o/ & vy vgrul

941 9fF St S I, - yeTu

S Wa TR SR &, W fEa Siaa g

3T 3 7 B UTSE, Tad J g IRITI

o T erfifa B 3y, o SR orfifa geTUl

ST ERA It T G, Sl U1 7 S1fE Jare|

ST TR Bl UgH A TR W aTd U BT IR qa1s¢I
wy: fora ama A it 3t fawe 1 & &t &1 & fFar
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1. H1C1-fOdT o1 faRty

2. 3GA BT 3 3R 79 W =701 &t A
3. W1 Y faaT

4, T faRTy

Correct Answer :-

. IS BT ATTHT 3R 99 R g0 &t g

14) &R & rerife afe emu

TYEH 910 Hed AYH &, GHER I YT

$% 3Hfd IgR gd Ul oY, 319 [ T UQTu|

T¢I gf S St @Y, SRT-1eH ysTu |
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AT 8 7 ATI 79 B G A Ugd gvel 937 Traar-F1 g fore aras <18 ara ot g 98 e %
WId: 31 361, Ya-gT1Y 4T, W fban, foade-aw-1 avman, gor- fsan, ot @ firan, +8f arga aram m;
fipe dewy Mo forar SR A FR ugR fR a1, H1 BT+, fise = faran, fbr faae avman ik s
= 9T 74T; died) B HieH B iR A1 X811 I8 99 fore1 g3t 3resT 71 @vraT 4T 39fig 39 S8 W
A it F Fust MR M-I forae? IV W fFaT o9 A 98 S J0TW g3, 99 A T-3mHe &1
feare fore ois faar ok aidt & wus! &1 feuma uftsars= & o s1a fean

AP 3@ | fpT 3 feRaAT SR™Y B |1 §, TS FT SR 32 A JAT 8 75 399 3y a8, 3 arf
uerd §TY 3T 9ITd & | SARIY 3@ & i WRTa &7 A1 daw, 3R TS & |rH- 2 PP S feran
R BT §1 S y: Tf: S | o < el WrHEETe 3R wAfdare @t 9t w9l g @1
gregarg $1 3 g € for Tft agsy RreR g1 &Y A e wrard fagl @ oY 39 fawa & e €, S9-oft
Ui, AR Resgai 3R Smard SfywTrel & YT 9redl § & 99 799 $9 W g 99 22
MR AREeae T &|T B AT 7 B, WR 9P o 9 mard W U & 9a1 a%a g, B a8 &
[IaTg? 3UST Addd df 98! 8 9odT ¢ % a1 & aTH- U YR S I 98 faRTE =7 YR B A |

ST TR B UGh 19 IS T Y= BT Sk Farsy|
Y HIexT ! faa s/t de ot
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1. QA A

2. WHR A

3. QAo a1 A

4. 944

Correct Answer :-

. QD ard A

25) UfEa T #t STast: Fr A 5 o qugr ¥ ALY orar for 38 o S8 i § wn e S o wed
& 39 DIt ard} afvreg Ui 31, foRT W A1 &1 g foran Siman @ iR Y v weft weT g foran
FYd § MR S8 wif I W Y Fd § Tl TH-HH urelt 9t § SR SFPT gU, ARaH, W G fosar smar
21 U1 ATEH YT 8, 331 BTH safe A usT fh 9 S8 A fAre-ufa &1 qurEr e wrar 3, 39 @ve -
Afa gU-IE a9a1 31 S $9 &), A7 o S8 forem &1 Frgrg o7 forn 31 o€ 919 1A UF IR U AP
a2 g3 T 3 He o1 f 99 37 39 W e 7 a9@ uAT 71 fora; afes g sud forem 7 oo
T 8 7 UTI Id B T A Ugd gvel 33T Wraar-aa1 g e @ $18 ara off g us e b
WA HTd 361, Ye-g14 a1, W b, faas-aw1 avman, g fsar, gt & i, w3 arga ara- m;
i diewr Yie f5ar iR Wian1 F R ugR fiR a1, Wi o, iR ar faran, fisr foae avman ok @t
SR I TT; died? e WieH fHar 3k O 3811 U I9 feramT g3t 3resT 7 rdr YTl 39fore 39 S8 W
A o & Fust R eH-Td ferge? 3/ W1 fFar w9 & 98 8 U g%, 99 A WH-SmHE BT
T fore ois faar ok aidt & wusi &1 fguma uftsarsg= & o s1a fean

AP 3@ I fie S G T SRTY FR T §, TABT T BRI g2 B 1 8 5 399 31g gedl 8, iR IRy
gard 7Y 3 ST &1 ST 3rd & fhR araT] &1 T Ay, IR Mool & A M grny S8 fera
SR HaT §1 3 =mf: wfe: wfe: | o A % s wraTe ik waf¥are &t &t waf g wT §)
grare @1 3 g § fop Wt vy SRR g1 @ & SrvA arard) fagl | oY 39 fawy & o §, St
FrUITe, Smard Tsdasht 3R mard fuereel | US1 9redT § 1 99 999 $A SR 8 b 82
T TEESaol G &1 B T 7 BY, WR I7F o A9 mard W U § qu1 I &, B a8 Fan
ARATE? TUPT A df 981 81 TPl & {6 a1 & 901 = YR HR G 98 faRTe U YR 32 |

ITYe TR B UgH 19 IR T U= $T S« a1l

UY: PUS! @1 foaTa-fbde oA &1 formr 3=iA foe SwR s1a faan?
1. Ufsdaa &

2. o &

3.0 &

4. D

Correct Answer :-

. Uf&dET b

26) UfEa W #t STat: 7T A b o qug A ALY orar fp 3§ o 8 vl A i = 3§ @ wea
2 39 B3 Trdt ufvieg MR F1, oy W= A9 1 g @t sivar 8 3R i wra: Wit wer gey foran
Fd ¢ ST S8 B 3T I &1 Fed € Tel TA-UH urelt ATt § MR IAPT g, WaRaH, WY duR o siran
21 T UTeH BT 8, 39 Wt i A vst f S 38 # frer-ufa @1 awmErR forar siar @, 39 ave -
Wi gU-ARa S1a1 81 St $© g, A o S8t foramt &1 fArgra v foran 81 8 OTa vgdl U OR UF (WS
a1 g T S He Fi At 99 39 39 R TP 7 9% ST g1 foran; Afe g 39w o B o
AT 8 7 4TI 79 B) 99 A Ugd gvel 987 a1 g forewt args a8 ara off g us foren %
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UTd: DT 361, Yg-8T¥ 4T, W g, faae-awa=1 v, gere foar, gl & fir, oet agd dia- T,
e dewy Mo forar ok I R ugR R a1, Hr o1+, fise e faran, fbr foae avman ik s
qiaA =T T4T; died) B e B ik 6t ¥eT1 g8 Ie fore T g3t 3resT1 7 @vrar 4T 39fie 39 38 W
A9 et F BUst SR HE-Td fora®? 3Q T T o9 A 98 S U g8, 99 F W-3HGH! B
feare fore ois faar ok aidt & wusi &1 feuma uftsarsg= & o s1a feam

AP 3@ | e 3 R SR™ X 3T §, THST T SR 22 A7 FA1 ¢ 1P 399 g Teet , 3 IRy
uerd B1Y 31 9Td &1 $AFIE 3@ A fihx WTa o1 A A9, 3R ISt & |rH- 2 gores 39 feremn
SR T § | 3 =i =i =fe: | o 9 6 srerea arare ok Juaidare #t 98t o=t g9 w1 §|
arare &1 AY 98 g 1 9t agsy avrer 861 @ F srue wrard! fag @ ot 59 fawa & oAt €, S9-oft
Ui, 3mard Tseasl X et Mybrereh ¥ TS 9edl § P 99 A9 $ R 81 I6d &2
TRl Rseael T &|T HY a1 7 B, WR 3I9F o 9 mard IR U & 9a1 9%d g, v a8 &
raTe? SHST Udad al T8t 81 Hdl g fb a1 & ari =7 YR $% 71 a8 faRTe 0 yRur a2 9|

ITYR TR B UG -1 IR 7T U= o1 Ik 9a13¢|
wY: S8 Wik | o uTel! ATl 82

1. TE-99

2. gt

3. SHIAl

4. P-foet

Correct Answer :-

27) UfEa AR #t S T A 6 $o wHy A A8 omar 6 S8 o 38 wid & wn arawn S A wea
¥ 39 DI wrd) uiiteg Ui Y, BT W) A0 BT gar= foram sirar & 3R i ura: 9 7o yo Rrar
FYd g IR S8 Brf 39w 3t Fed § 8T TA-UH urelt Wit 7 iR I9%T g, AeeH, W dur fasar s
21 U AT BT §, S8 Wt 3afee A vet fh S 38 A fre-ufa @1 awmER fora st @, 39 awe -
Wi gU-ARE I1a1 81 Wl 9 81, A 3@ 33 Rrem &1 gy o= o 81 #% 91d Ugd Uo IR US (WD
T A g T S He F At 99 A9 3 R TP 7 9 ST g1 foran; Afe g 39w fora B o
a1 8 7 471 9 B A F g gel o1 Hraar-ad1 | forem arae g ara ot g a8 e B
WIa:HTd 381, He-g1y o, | fovan, foas- a1 avmman, gor faran, gt & fyen, w3t arga ate mm;
iR ey HioH farar ok Tl R ugR fibr 31, W1 B, e | 6, bR faae avman o s
S I T4T; died? e Wie fHar ok O a1 g T9 fora=T g3t 3resT 7 rdT YTl 39foe 39 S8 W
A7 o & PUSt 3R MEHHI-TH fora®? 34 [ fFarl oe & 98 9 97T g8, a9 & Te-3THG BT
feame forae oS faur sk 1 & pus! &1 e ufvtsarga & ot s1a faa

AP 3@ A fire 8 a1 SRTY TR 8T §, 3BT T RO 32 A J1 8 75 39 31g et B, ik Ay
e g1 3 ST §1 ST 3rd & R AT 1 A Ay, IR TURISh & A A geprey S fera
SR HT § 1 3 =f: =mfea: i | A % sneiea wraTe ok Jaf¥are &t 98t Tt g W §)
grgarg $1 3 gg ¢ for Tft agsy wRraR g1 Y 7 e arard fagel @ <Y 59 fawa & e €, S9-oft
TUTiF=g, ARt Teseaet R At fiuw=rel & UaAT g § & 99 709 $9 W g @ 72
mwwmﬁmqﬁ,wmﬁﬁﬁqmﬁ%ﬁzﬁmmﬁﬁwww
ARYATE? THPT IS df 981 §1 TSl g {6 1 & 90 = YR HR P 98 faRTe U YR A |

IuYe TRIRT B UgHR 19 R T U= $T I« 9d13¢|

wY: S6i1 SRR ® foran % Arrare & srgaR Wt ugw fFafafea 82
1. SRISR

2. f&
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3. @9
4. 99

Correct Answer :-

28) UfEd AT Ft SRt FT AT 6 $o wug A ALY 3mar i S8 o S8 wrf & wn wrawn S @ wed
g 39 BId1-3t ardl afreg N o1, oy R A9 &1 g et Siran @ iR < yra: weft aer gey foran
BYd ¢ 3R 6 Bl 3T W B Fed € wel TA-NE ureht w1l § 3R ST gy, waeH, ot AR fhar e
21 U AT BT §, 39 Wt i A vet fh S 38 # fre-ufa @1 awmErR fora s @, 39 ave -
Wi gU-ARE Ia1 81 W 9 g, A 3@ 33 Rrem &1 gy o= R 81 +% 919 Ugd TP IR TS (WS
T A g TP S He F At 99 79 39 R UH 7 9% ST g1 foran; Afe g 39w o 7 o
a1 &1 9 Y71 Id B WA F Ugd el do1 Wuar-Fn G| Rreq arae @18 a1 ot |12 a8 foraan %
WIa:STd 381, He-g1y o, | fovan, foas- a1 avmman, gor fasan, gt | fren, w¢f arga ate mm;
e diemy Wier foar ok ATl FR ugR R a1, H o1, fise e o, fir faae avman sik s
S =TT TT; died? e WieH fBar ok T TeT1 g Ta fora=T g3t 3resT 1 raT o1l 39foe 39 S8 W
A9 it F Fust R mHE-Td fora®? Iq T fFHan o A 98 S8 T g5, 99 ¥ G- 1
fRare fore ois faar ok ot & Hus! &1 feume uftsars= & o s1a fean

AP 3@ A fibe 8 R SRTY FR 8T §, TS FT HROT 82 A 71 ¢ fr 399 31y gedl 8, 3T IRy
verd g1 3T o1d & | SARIG o # f WA &1 91 A, 3R Torrsh & |rA- 2 gopres S feramn
SR HT § 1 3 =mf: =mfea: i | A % s wraTe ok Juf¥are &t 9t waf g W §)
gragare &1 Y g8 3 15 9t agsy sRreR g1 @) 7 srue wrard! fag @ ot 5w fawa & oAt €, S9-ot
Ui, A Reggael 3R Smard fywrel ¥ YT @redl § & 99 799 $9 R 8 99 22
TR} seael gt &1 B AT 7 B, TR I o a9 mard A U § g1 9ad g, Y g8 Far
ATqIE? ST Udad dl T8t g1 AdhdT g fob a1 & aTa+1 U YR $H I 98 favTe 0 4R a2 |

UL TR B UG 2 D Y Y2 $T IR IA15¢

vy 3 fore daar & A RR gora? STt fore1n g #va 82
1. Rra it

2. DIl oif

3. ORI St

4. T Sft
Correct Answer :-

. TUR S

29) UfEd HIeITH Ft SRR FT A1 {6 o wuer # L1 omar & S8 ok S8 wid & wn e S8 @ wed
2 39 B3 ard} afreg Nf o1, o R A9 1 g et Siran 3 3R i ura: weft ver gey foran
FYd § MY S8 wif 3 W Y Fd § Tl AN urelt 9t § SR SFPT gU, TRaH, ot G fosar srar
21 T U e 8, S Wi gafee A et fr o 38 | fAre-ufa &1 aumeR foran wmar 8, 99 ave -
Ufd gU-ARa-T 91a1 31 &l 3 81, A 3@ 38 forma &1 fHyg o o 81 #3919 U8 TP IR TP WD
T A g T 39 He ot f 99 37 39 W T 7 9@ uAT 71 o afe g sud forem 7 oo
AT 81 9 UT1 39 B WA F UgA el doT Wuar-Fn gl e @ #9191 ot g1 a5 foraen %
WA FTd 361, Ye-g14 a1, W b, faae-aw=1 avman, gore far, asramt & firan, w8 arga araw m;
e diewy Mo forar ok Il R ugR fhr a1, H a1+, fise e faran, fsz faae avman ik s
qTam 9T 74T; died) B HieH B ik 1 ¥eT1 g8 Ie Rorer g3t 3resT1 7 @vrar 4T 39fie 39 S8 W
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A7 it & pust iR AHE-Td g 3/ T fha1| 519 | 98 3 IuT g3, 99 | Gd-3ATHG BT
feame fore= oS fear ik et & Hus) &1 fgare uftsarsa & o s1a feam

AP 3@ | b S feRaAT SR™Y H @1 §, IS FT SR 32 A JAT 2 75 399 oMy daet 8, 3 ary
uerd §TY 3T 9ITd & | SARIG 3@ & i WTa &7 A1 A, 3R TS & |rH- Y Fprax S feran
SR HT §1 3 wf: wnfy: wnf=: | @ 9 % setera wraaTe 8k JHf¥are &t €t o=t g W |
grare &1 34 g § 6 Tt g Rrer 8| At & Srom wrard) fage | it 59 vy & oA €, S-oht
ui=g, mard Avseaett R A SfiuwRrel § USHT drgdT § f 99 779 8 WIS 8 THd 82
MR AREdae T &|T B AT 7 B, WR 9P o 9 mard R U & 9a1 aod g, v a8 &
ATAIE? SHST Udad dl Tgt g1 IHdT ¢ fob a1 & aTa+T ©U YR X I 98 faRTe 0 4R a2 9|

ST TR B Ugh 19 IS T U= BT v Jarsu|

WY: U+ ST | I fohe1-forTan wrvgaTg @1 Sirard wreT?
1. Had Ayui-ig

2. Bad SUBHT Sit

3. Had Wgad

4. Iudad quft o1
Correct Answer :-

. ISP @it B

30) &R & Toifa ufe smul

T 91d Fed AYH &, THER 99 UTT|

3% 31 IR ga ufRd &Y, 3@ % UY ug|

9t g3 I S ST, - veTu|

Syt I SRt &, W 7 Stad g

3F 3R 7 B UTSE, Terd o g IRICI

I 7Y oYy Y 3Ty, & ok srfifa gsTUl

IS 4R T G, S Ul 7 e Fae|

IUYed TEi &1 Ugh? 1 Y oM 91d U= &7 S« 9a13¢ |
wY: MGT g & w1 Ug A B 910 PR E 82
1. oI

2. fag=r ifa

3. Fod

4. 3 Aifcy

Correct Answer :-
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Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

When many people work together, they are said to --operate.
1. dis--
2. co--
3. de--

4. in--

Correct Answer :-

e CO--

2) Fill in the blank with the correct option in the given sentence:

I am too scared of poison-- snakes. What about you?

1. --ful
2. --ing
3. —-ed
4. --ous

Correct Answer :-

3) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.
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“Our train at last!"said Father, Now tumble in!
It's the last lap home!" And I wondered what 'lap' could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

What were the gentlemen talking about?
1. weather

2. fashion

3. Cricket and news

4. music

Correct Answer :-

e Cricket and news

4) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.

"Our train at last! said Father, ‘Now tumble in!
It's the last lap home!' And I wondered what 'lap’' could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

Where did they change trains?
1. atalevel crossing

2. at a village

3. at a station

4. at an unscheduled stop

Correct Answer :-
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e ata station

5) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.

"Our train at last!"said Father, ‘Now tumble in!
It's the last lap home!" And I wondered what 'lap' could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

When did the homeward journey begin?
1. midnight

2. noon

3. evening

4. morning

Correct Answer :-

® evening

6) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,
The place where we changed - the dark trains lumbering through;
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The refreshment-room, the crumbs and the slopped tea;
And the salt on my face, not of tears, not tears, but of the sea.

"Our train at last! said Father, ‘Now tumble in!
It's the last lap home!' And I wondered what 'lap’' could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

Which are the words in the poem indicate it was a hot day?
1. sunny heat

2. level sun

3. salt on my face

4. drowsiness crept

Correct Answer :-

® sunny heat

7) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists,
government leaders, and civil society representatives who met recently in Stockholm for World
Water Week. As population and incomes grow, with concomitant consumption, there is a sharp
rise in the demand for water for direct use, and as an input for food production. Many countries
are also experiencing rising demand for water to grow biofuel crops. The global supply of
freshwater, which every individual needs at the rate of 1,000 cubic metres per year to meet
minimum drinking, hygiene, and subsistence requirements, is under strain. Unpredictable
monsoon patterns attributed to climate change are adding to the distress. The message to
governments is that they must respond urgently with practical schemes or face escalating
conflicts over water in the not-so-distant future. The priority must be to reduce water intensity in
farming, the biggest single user. Even a small but significant saving in irrigated agriculture can
deliver more water for people. That is clear from an International Water Management Institute
forecast: without improved farm productivity, including measures such as waterproofing of canal
surfaces, the volume of water lost due to evaporation annually could, by mid-century, be nearly
double the present level of 7,130 cubic kilometres.

With increase in population and better economic levels consumption has:
1. remains the same

2. decreased

3. not effected

4, increased

Correct Answer :-

e increased
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8) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists,
government leaders, and civil society representatives who met recently in Stockholm for World
Water Week. As population and incomes grow, with concomitant consumption, there is a sharp
rise in the demand for water for direct use, and as an input for food production. Many countries
are also experiencing rising demand for water to grow biofuel crops. The global supply of
freshwater, which every individual needs at the rate of 1,000 cubic metres per year to meet
minimum drinking, hygiene, and subsistence requirements, is under strain. Unpredictable
monsoon patterns attributed to climate change are adding to the distress. The message to
governments is that they must respond urgently with practical schemes or face escalating
conflicts over water in the not-so-distant future. The priority must be to reduce water intensity in
farming, the biggest single user. Even a small but significant saving in irrigated agriculture can
deliver more water for people. That is clear from an International Water Management Institute
forecast: without improved farm productivity, including measures such as waterproofing of canal
surfaces, the volume of water lost due to evaporation annually could, by mid-century, be nearly
double the present level of 7,130 cubic kilometres.

The supply of fresh water is under stress due to some factors.
Which one of the following is not such a factor?

1. Uncertain weather pattern

2. Every individual needs 1000 cubic metre of water

3. Increase need of water to grow bio fuels

4, Increase in income

Correct Answer :-

» Every individual needs 1000 cubic metre of water

9) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists,
government leaders, and civil society representatives who met recently in Stockholm for World
Water Week. As population and incomes grow, with concomitant consumption, there is a sharp
rise in the demand for water for direct use, and as an input for food production. Many countries
are also experiencing rising demand for water to grow biofuel crops. The global supply of
freshwater, which every individual needs at the rate of 1,000 cubic metres per year to meet
minimum drinking, hygiene, and subsistence requirements, is under strain. Unpredictable
monsoon patterns attributed to climate change are adding to the distress. The message to
governments is that they must respond urgently with practical schemes or face escalating
conflicts over water in the not-so-distant future. The priority must be to reduce water intensity in
farming, the biggest single user. Even a small but significant saving in irrigated agriculture can
deliver more water for people. That is clear from an International Water Management Institute
forecast: without improved farm productivity, including measures such as waterproofing of canal
surfaces, the volume of water lost due to evaporation annually could, by mid-century, be nearly
double the present level of 7,130 cubic kilometres.
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The passage talks of an increase in the requirement of water for direct use.
Which of the following is not a part of direct use?

1. Agriculture

2. Drinking

3. Cooking

4. Washing

Correct Answer :-

e Agriculture

10) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists,
government leaders, and civil society representatives who met recently in Stockholm for World
Water Week. As population and incomes grow, with concomitant consumption, there is a sharp
rise in the demand for water for direct use, and as an input for food production. Many countries
are also experiencing rising demand for water to grow biofuel crops. The global supply of
freshwater, which every individual needs at the rate of 1,000 cubic metres per year to meet
minimum drinking, hygiene, and subsistence requirements, is under strain. Unpredictable
monsoon patterns attributed to climate change are adding to the distress. The message to
governments is that they must respond urgently with practical schemes or face escalating
conflicts over water in the not-so-distant future. The priority must be to reduce water intensity in
farming, the biggest single user. Even a small but significant saving in irrigated agriculture can
deliver more water for people. That is clear from an International Water Management Institute
forecast: without improved farm productivity, including measures such as waterproofing of canal
surfaces, the volume of water lost due to evaporation annually could, by mid-century, be nearly
double the present level of 7,130 cubic kilometres.

The suggested response to the situation regarding the stress on the demand for water is:
1. Double the present levels of evaporation of 7130 cubic kilometres

2. Reduce water use in farming

3. Reduce farming

4, Increase canal surfaces

Correct Answer :-

» Reduce water use in farming

11) Choose the appropriate pronouns for the given sentence.
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Being a singer ; know how difficult it is to sing in front of a large audience.

1. myself, |
2. herself, she
3. yourself, I

4. himself, you

Correct Answer :-
« myself, |

12) Fill in the blank with the correct option in the given sentence:

Remona accepted the job without
1. hesitation

2. hesitate

3. hesitatively

4. hastily

Correct Answer :-
o hesitation

13) Which of the following options best combines the two given sentences?
This is my cousin. His name is Anil.

1. Anil is my cousin brother.

2. This is my cousin Anil.

3. This is my cousin brother Anil.

4. He is my cousin brother Anil.

Correct Answer :-

e This is my cousin Anil.

14) Choose appropriate articles for the given sentence:

BPOs remain __ popular choice for __ younger generation as they offer numerous job opportunities.

1. the, no article required
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2. a, the
3. a, no article required

4. no article required, the

Correct Answer :-

e a,the

15) Choose the appropriate option that rewrites the following sentence in passive voice:

Ramu has not yet completed his project.

1. His project was not yet been completed by Ramu.
2. His project have not yet been completed by Ramu.
3. His project is not yet completed by him.

4. Ramu'’s project has not yet been completed by him.

Correct Answer :-

« Ramu’s project has not yet been completed by him.

16) Choose the appropriate synonym for the highlighted word in the given sentence.

The news commentator had to yell to be heard above the hubbub.
1. bedlam

2. sports activity

3. stillness

4. argument

Correct Answer :-

e bedlam

17) Choose the appropriate tenses from the options given to fill in the blank in the sentence :

Jane never satisfied. She

1. will, will always complain
2. has been, always complained

3. has, shall always complain
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4. is, is always complaining

Correct Answer :-

« is, is always complaining

18) Choose the appropriate antonym for the highlighted word in the given sentence.

He thought that he would be rewarded for his deeds in vain.
1. flattered

2. insulted

3. reprimanded

4. punished

Correct Answer :-

e punished

19) Choose the appropriate prepositions for the given sentence:

The doorbellisthecue __ theactresstorun______ stage.
1. over, for

2. of, into

3. for, on

4. for, along

Correct Answer :-

20) Choose an appropriate modal for the given sentence:

As the final submission is due tomorrow, I __ complete my assignment.
1. could
2. must
3. might

4. may

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

21) Choose the option that best explains the highlighted expression:

When I turn up my toes, I want people to gather around me with lots of flowers.
1. become famous

2. die

3. play well

4. marry

Correct Answer :-
o die

22) Choose the option that best transforms the sentence into its Indirect form:
Mother said to her son, "Have you done your home work?”

1. Mother asked her son this if he had done his homework.
2. A mother said to her son if he had done his homework.
3. The mother asked her son if he had done his homework.

4. The mother asks her son if he could do his homework.

Correct Answer :-
e The mother asked her son if he had done his homework.

23) Choose the option that substitutes the given phrase appropriately.

A movement or action of the hands or face
1. Action

2. Gesture

3. Animation

4, Posture

Correct Answer :-

e Gesture
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24) Read the sentence carefully and choose the option that has an error in it:

Driving across the bridge, the sailboat with its sails billowing in the wind was a beautiful sight to
see.

1. Driving across the bridge
2. was a beautiful sight to see.
3. billowing in the wind

4, the sailboat, with its sails

Correct Answer :-
 Driving across the bridge

25) Read the sentence carefully and choose the option that has an error in it:

The demand of the workers’ union that the dismissed employee to be reinstated has been
accepted by the management.

1. to be reinstated has been accepted
2. by the management.
3. The demand of the workers’ union

4. that the dismissed employee

Correct Answer :-
» to be reinstated has been accepted

26) Change the given statement to indirect speech.
Jack: "New York is livelier than London.”

1. Jack remarks that New York is livelier than London.

2. Jack said that New York has been livelier than London.
3. Jack said that New York is livelier than London.

4, Jack said that New York was livelier than London.

Correct Answer :-

o Jack remarks that New York is livelier than London.

27) Fill in the blank with the correct option in the given sentence
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You can see what | am doing you observe me carefully.
1. and

2. whereas

3. if

4. until

Correct Answer :-

28) Fill in the blank with the most appropriate preposition in the given sentence.
She loves to run her fingers my hair.

1. by

2. across

3. above

4. through

Correct Answer :-
 through

29) Choose the most appropriate determiner in the given sentence.

The innings were quite dull
1. third, second

2. two, third

3. second, three

4, three, second

Correct Answer :-
e second, three

30) Choose the right tag:

You didn’t have to wait long, ?
1. did you

2. didn't you
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3. had you

4. don't you

Correct Answer :-

« did you

Topic:- Social Science (SSC)

1) Who said that, "The President occupies the same position as the King in the British
Constitution”. / f&e a1 uT f5, “fafewr Wiy & wrgufa, e & F9H ®IF T80 FRar g1
1. S. Radhakrishnan / TH. X[YTH T

2. Dr. BR. Ambedkar/@'ff. 3R, 3FASH

3. Dr. Rajendra Prasad / 3T, TI@I*_Q' Udlcq

4. V. V. Giri /a4l faR

Correct Answer :-

« Dr. B.R. Ambedkar/@ﬁ. 1.3, TS H

2) Who was the ruler of Gujarat when Mahmud attacked Somnath Temple? / STd HgHg a4
THATY HieR UR g BT YT, 39 U ORI BT ARH DI UT?

1. Bhim Dev / i 39

2. Mula Raja / T TSIl
3. Siddha Raja / R I
4. Kumar Pal / PHR YTleT

Correct Answer :-

« Bhim Dev /Y@ 2q

3) Which of the following is the mausoleum of Muhammad Adil Shah of the Adil Shahi dynasty?

; Frafeafaa o 3 snfea e 931 & Yewie 3Nfed xTe T AP ERT I T 8?2
1. Gol Gumbaz / TTIeT T[FSSl

2. Juma Masjid / STTHT ARSTE

3. Taj Mahal / Ao

4. Qutub Minar / $dd HHR

Correct Answer :-
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+ Gol Gumbaz /Tﬁaw

4) in the Constitution set forth the humanitarian social precepts that aim at social
revolution. / Jfau= & 3 gFaaTard! I Uk & fifva fear eer sexa
arfore wifd g1

1. Right to Equality / JHFdT 6T HYBR

2. Right to Equal Protection / FHT TR&UT BT SHTHR

3. Right to Education / fRre &1 3P R

4. Directive Principles of State Policy / IIsd & =ifd FAx® aa
Correct Answer :-

» Directive Principles of State Policy / XIS & Hifd Fcw® aa

5) The test that predicts the performance of individual in a particular field is: / QW qﬂ&‘I'UT \_rﬁ

et fodiw & # =afea & we=i= &1 qafgae exar @:
1. Diagnostic test / FaIE gtequr

2. Prognostic test /CETT:I'F[ TRI&0m

3. Achievement test / Ul TRI&OT

4. Teacher made test/ TR1&fe gIRT T 7T TRI&0T

Correct Answer :-

« Prognostic test /CETT:IW ORI

6) Which among the following correctly represents the Honduran Emerald? / ﬁ"}lﬁ'@ﬁ T

q D T GIgI™ THRICS P! JE! aRE | S2iaT 82
1. A beach in Honduras / Eﬁw ey g dc
2. An endangered bird of Honduras / Eﬁw [ Uch Uiy geft

3. An ore found in Honduras /eﬁwﬁw ST aTel Udh HgIh

4. An island in the Atlantic Ocean / 3fcdifc® HSRINR H U& g

Correct Answer :-

« An endangered bird of Honduras / Eﬁw hT Udh JtdUg geft

7) Pohang Iron and Steel Company is from which among the following countries? /

Frafafea 3 3 disi smRa s W st fra g d g2
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1. South Korea / GI&0T HIRAT
2. North Korea / 31X HIfT
3. China / 99

4, Japan / SITUTT

Correct Answer :-

« South Korea / GI&UT Il

8) Hubbert peak theory is related to which of the following? / &3¢ RIER Rigia

Frafafead # & foaa w@afta 32
1. Currency Trade / HxI UUR

2. Petroleum / ﬁ'@ﬁﬂm

3. Metabolism / ddMUdY

4. Nuclear Energy / UXHIU] ol

Correct Answer :-

+ Petroleum / ﬁ'@ﬁ—mﬂ

9) Who is the administrative head of Prime Minister’s Office? / UUTHA] drafag &

U UHE B 87

1. Prime Minister / TYTHT

2. Principal Secretary / UHTH gfd

3. Cabinet / AfHsd

4. Cabinet Secretary / TRHed gfed

Correct Answer :-

« Principal Secretary / U gfrg

10) A type of evaluation which is used to improve and monitor the progress of students and
teachers is: / TSP UHR &1 Yo g, ol D 3R gl 3t wifa & gur ik fFRret
& foe frar smar 81

1. Formative evaluation / IJITHD J—,Lc’*—lid)*l

2. Norm-referenced evaluation / A& Hafid Jedid

3. Summative evaluation / INTIE® Jedidh
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4. Criterion-referenced evaluation / A8 T id H™ih

Correct Answer :-

« Formative evaluation / TIATH® HcdTh

11) Mind is a ‘Tabula Rasa’. Who said this? / H TP ‘dqdT I’ (Tabula Rasa’)% qg oo
Pel?

1. Immanuel Kant / SHIIES Hic

2. Michel Foucault / fRId QQ_GbAf

3. Friedrich Nietzsche / ThaRd =&l
4. John Locke / S[9 @l

Correct Answer :-

o John Locke /Giv'IT'f EVW

12) Before Ashoka became Mauryan king, which province did he serve as governor? /

=M TR IS 99+ | U fobd oid & 99l & U § i Hvd A2
1. Taxila / T&IRTaT

2. Vaisal / AR

3. Pataliputra / tl'l??ﬂ'gﬁ

4. Ujjain / IS0

Correct Answer :-

« Taxila / d&fRr

13) The First Factory Act restricting the working hours of women and children was adopted

during whose time? /Wﬁﬁﬁ%ﬂ%ﬂﬁﬁmﬂﬁwwm
SrREM AU frad Jwa § Sra=mar 1T 12

1. Lord Ripon / dre =

2. Lord Lytton / dre fereq

3. Lord Bentinck / @S Sfcd

4. Lord Cornwallis / @IS BI-aTer

Correct Answer :-

« Lord Ripon / a1 ko=
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14) The term Isostasy describes: / H-Tqa e 18 B RS BT f
1. The state of disruption / fageq &1 fufa

2. The state of balance / FJa ot fRufa

3. The state of uplift / STUA 31 fRufa

4. The state of subduction / FIEREe &1 fRYfd

Correct Answer :-

« The state of balance / T o1 Rufa

15) The song ‘Amar Sonar Bangla’ written during the Swadeshi Movement of India inspired
the liberation struggle of Bangladesh and was adopted as the National Anthem of

Bangladesh. Who wrote this song? / YR & wWexft srigia a?aﬂ?ﬁf@"'l'q?'ﬁﬂ '3HY
AR ST 3 TRAT & TS & HaY S 3Rd fFar ok 78 sireew I = F
U AT 14T 98 i foraa forar 82

1. Michael Madusudan Dutt / HIgh d YT ad
2. Mukund Das / §$ & G

3. Bankim Chandra / §fhH 9§

4, Rabindra Nath Tagore / ey TR

Correct Answer :-

« Rabindra Nath Tagore / fdeTy &R

16) The coral reefs are the marine counterparts of which of the following? / WdT¢l Ad

sfori, frafefea & 9 feae! st ufauer 82
1. Savannahs / SUIHICE LT O A (AT

2. Scrubland / &UYfH (FhEcS)

3. Temperate forests / EENIGINUICE]

4, Tropical rainforests / SUHieeT aul.aq

Correct Answer :-

+ Tropical rainforests / S eg aul-a

17) The Head Office of Export Promotion Council for Handicrafts (EPCH) is located at? /

swfrey fafa Jadq ufvue (SiRiivw) &1 ey gsi fRud 82
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1. Delhi / faeef!

2. Jaipur / STIYR

3. Varanasi / IRToT
4. Kolkata /W

Correct Answer :-

« Delhi / fact

18) Which one of the following aroused a wave of popular indignation that led to the

massacre by the British at Jallianwala Bagh? / Fafafea o 4 foa Udh A de g TR
Dt TeX UeT HR &t TIPS FRUT 3 gRT SAfriarer anT § REER §3i?

1. Government of India Act 1919 / HRd IR HfAFTH 1919

2. The Rowlatt Act / G Il T (Tl HTI)

3. The Arms Act / 3TJY e

4. The Vernacular Press Act / OI"ITOH\GQ U T

Correct Answer :-

« The Rowlatt Act / G Udic TdC (PTall BI)

19) Which one of the following is not a method used for the assessment of personality? /

AR & MHa & I T $t 9 arelt faftr Fafafeaa 3 | #19 d@ a8 22
1. Project method / GATSHT fafdr

2. Projective method / W&Idt fafdr

3. Objective method / I¥IE fafY

4. Subjective method / 3TAMS fafd

Correct Answer :-

+ Project method / Tror fafd

20) Which is not a third Century BCE stupa? / @R} XTdTed] 99T Yd BT WU HI AT T8l
87

1. Dhamek Stupa / YT U
2. Kesaria Stupa / HaRar U
3. Amaravati Stupa / SRTA! U
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4. Sanchi Stupa / it U

Correct Answer :-

. Dhamek Stupa / 4TH® WU

21) Which is not a structure in the premises of Qutub Minar? / $dd R & tReR A oA
GIRGCTEE L

1. Quwaat ul Islam mosque / Podd 3¢l FTIH TG

2. Alai Darwaza / \3'|?1'|_‘Egt X doll

3. Aibak’s Magbara / UdD BT HHeR]

4. Tron Pillar / ?ﬁ% DT GHT

Correct Answer :-

« Aibak’s Magbara / Q@ldp D Hh ]

22) Which is the first Biosphere reserve in India? / HRd i ggdl TR Red (ﬂ?'f&l'a
SaqHgd) B AT 8?2

1. Sunderbans Biosphere reserve / W WZR ﬁﬁé

2. Nilgiri Biosphere Reserve / At safeeoR fod

3. Nanda Devi Biosphere Reserve / '_‘ET aabf a@w ﬁﬂé

4. Gulf of Mannar Biosphere Reserve / HAIR 3| @'I@BI TARRRER Rerd

Correct Answer :-

« Nilgiri Biosphere Reserve / A sEferaR fod

23) Which Gupta king contested the Huna according to Bhitari Pillar Inscription? / firerst

T Rearaw & AR {5 T 3w 1 g1 & fore Jad far U
1. Samudragupta / JH& [t

2. Chandragupta II / W II

3. Chandragupta I/ I&I
4. Skandagupta / Th &It

Correct Answer :-

« Skandagupta / Th I


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

24) Which among the following was the last European country to rule Goa? /

fFraferfaa & @ Mar R IRE $3A arar sifaw gRId =1 S 91 912
1. Netherlands / eRalg

2. England / 7418

3. Portugal / JaiTTdl

4. France / Hig

Correct Answer :-

« Portugal / H?ﬁTIT’T

25) Which among the following is known as “Coffee Port” of the world? / fafafaad g

5 fay & «Prot U & =9 | FH1 1T 82
1. Santiago / Sfe3m

2. Santos / ¥

3. Rio de Janeiro / &1 S SR

4. Buenos Aires / &9 3O

Correct Answer :-

« Santos / g

26) Which metal was unknown to Harappans? Akl LI I TS W SIITd Ok
1. Bronze / 1

2. Silver / Xold

3. Copper / dIdT

4. Iron/ Fﬁ_s'

Correct Answer :-

. Iron/?ﬁ_s'

27) Which Constitutional Amendment Act removed Right to Property from the list of

Fundamental Rights? / g Taunfae weies srififaaw 3 Jufy & Sifter & \ifers
aiferTet o8t et @ g Ry

1. 42 /429

2. 418t / 41d
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3. 461 / 46d
4. 44 / 449

Correct Answer :-

. 44th /449

28) To promote equity in agriculture the government had introduced system where the
maximum size of land which could be owned by an individual is fixed. / qffef H g dl ggrard &
RTweRA worTel 3= @t Y, ol ve safad gr1 w@iiRigd YfY &1 siftrean s Faa 21

1. Land ceiling / Yf¥1 Tifei (s Tifer)
2. Land reform / 4{H YR

3. Land Parcel / 4ff URf@

4. Land fixation / Yf¥ FeRor

Correct Answer :-

o Land ceiling / ﬂi&[ e (é'-s' Tifei)

29) Second five year plan was popularly known as . / fe<dia vaadfy gien &t defia & u
| & AT A ST 1T AT

1. Gandhian Model / TTiefiard} Aisa
2. Nehruvian Model / Ag%dIel Alsd
3. Mahalanobis Model / q%'lﬂ‘ﬂﬁﬂ Alsd

4, Harrod-Domar Model / %il@—@ﬁﬂ?ﬁ@ﬂ

Correct Answer :-

e Mahalanobis Model / IIEWFﬁﬁF Alsd

30) Match the educationists with their contribution. / ﬁT&ﬂﬁﬁ C3) ?Fla; TnTIEFT ﬁ = aﬁ'l
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Educationists Contribution
a. Lev Vygotsky / &g i. Project Method / Wioiee
arsaiicadl fafer yaRaerer fafe
b. BF. Skimmer/ &T. ii. Constructivist Leamning /
— a— {HAEG T
c. Kilpatrick / frerdfes ii. Jurisprudential Inquiry /

faferemes gaeir ar=

d. Donald Oliver & James P. Shaver | jv. Programmed Leaming /
/ SiTes e RSP o | siwaeg A
T

1. a— (iv); b — (iii); ¢ — (ii); d — (T)
2. a— (i); b— (ii); ¢ — (iii); d — (iv)
3. a— (iii); b — (ii); ¢ — (iv); d — (i)
4. a— (ii); b— (iv); ¢ — (i); d — (i)
Correct Answer :-

+ a—(i1); b— (iv); ¢ — (1); d — (ii1)

31) Which is the process of assessing the progress of learners by identifying areas of difficulties
through diagnoses and remedial actions as part of the instructional process? / fArdzers ufrar &
0 & T u # FgM iR STARTHS 14T & H1H A HS5al & &3 31 ygar H3e Rranfday @1
T T SHTHa A B Ufehar #7182

1. Summative Evaluation / IWTT&Ie Jedidh
2. Final Examination / 3ifc¥ ol

3. Integrated Evaluation / Tbidd Jedidh
4. Formative Evaluation / FHforats H™ih

Correct Answer :-
« Formative Evaluation / 0TS geaic

32) Which is the forest conservation movement in India where local people prevented the cutting

down of trees? /MR § B TT 9 WEIUT TSI 8 el TG &N UST H HIeq T Add 82
1. Bhoodan movement / Y& fiaia

2. Cooperative movement / TRl 3GIeH

3. Consolidation of land / Y BT TehIeh T
4. Chipko movement / fRIge! 3figie
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Correct Answer :-

« Chipko movement / ! sfigra

33) Which of the following is the correct psychological way of proceeding in Social Science teaching?

/ FFrafafaa o @« arnfore fage Rigor & om 9g4 o1 3Ra adg=e e 82
1. Difficult to Simple / B3 ¥ TR

2. Concrete to Abstract / Td o 3

3. Unknown to Known / 3731 ¥ S0

4. General to Particular / M= ¥ fafry

Correct Answer :-

» Concrete to Abstract / H\T‘f@ G'I'H\?f

34) Which among the following is an example for non-institutional credits? / Fafaf@a s a s
IR-HRITTT 91 & T U 3160 82

1. Regional rural banks / & AT S h
2. Nationalised banks / ?TQ.TCIW CEY

3. Moneylenders / 9IghRR

4. Cooperative banks / GgHRI CLY

Correct Answer :-

» Moneylenders / HIghR

35) Which among the following is a non-conventional source of energy? / Frafafaa & 3 s ar et
BT TP IR-UWRNTA A 32

1. Natural gas / Wﬁ?
2. Petroleum / ﬁzjﬁwn
3. Coal and lignite / H1TaT 3R fermmge

4. Wind energy / Ud ol

Correct Answer :-
» Wind energy / U $Hql

36) Projective techniques are used for the assessment of one’s /W w%

¥ qeaie S e Mofeea ae-te! o1 IuanT fear srar g1
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1. Development / fapr
2. Personality / Hfaaa

3. Growth / Q'@
4. Intelligence / Q@

Correct Answer :-

« Personality / @

37) is a policy which aimed at replacing or substituting imports with domestic production.

[ U ifa g e 5= Jmardl Bt e STe | HawITiida SR a1 sea 3
1. Balance of trade / STIR IJa

2. Balance of payment / YITd= A

3. Export reduction / f¥afd gita=ur

4. Import substitution / ST FcRUTI

Correct Answer :-

« Import substitution / 3T YIARIT

38) observed that ‘Social Sciences is perhaps the singular curricular area which can prove
to be the most effective tool for providing education in the context of all the core components
envisaged by National Policy on Education.’ / = gt & o fag, wmae ued ured &
St e w gty Afa gr afvefera 9 ger gee! & deH # Rian ue o7 &1 99 yHid) Suson
Hifed gl wpar g 1"

1. National Curriculum For Elementary And Secondary Education (1988) / Ui 3R Areafies fRem & forg
YT UTSTHH (1988)

2. National Curriculum Framework (2005) / ?TQW UTIad| Bt U (2005)
3. Secondary Education Commission (1952-1953) / AT fR1&T ST (1952-1953)

4. A Framework of NCERT (1975) / TTRIIZ3Rd} &1 T Ul (1975)

Correct Answer :-

» National Curriculum For Elementary And Secondary Education (1988) / TS SR Areatie e & forg
RIPTY UTSTsHH (1988)

39) Who said that, “The United Nations was not created to take humanity to heaven, but to save it
from hell.”? / fa= Fg1 s, "Hge Y ATaT Bt W F & 9 F forg 78 a=mar mar o7, 9fe’p 39 R
T T & fore = T ¥ti?

1. Dag Hammarskjold / ST g
2. Antonio Guterres / Qaﬁ'@f‘ L
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3. Boutros Boutros-Ghali / S SA9-9TcH

4. Ban Ki—Moon/ S - T

Correct Answer :-

» Dag Hammarskjold / ST RTINS

40) Who was the first Indian to be the Governor General of India? / HRd & HERTSIUTA (1137[?
S Rd) §99 913 Ugd HRAIg S 42

1. C. Rajagopalachari / 9T, IS YA
2. Fakhruddin Ali Ahmed / TTRESEI 37cll 3HS

3. Lal Bahadur Shastri / dTd §gTgR !
4. V.V. Giri / a1 dt. fifk

Correct Answer :-

 C. Rajagopalachari/l’-ﬁ. NSHIFINIEIN

41) Who upheld the view that religion can never be separated from politics? / forua ga e &t
TRHIR @ s o Bt e & ST srert 187 faman o wpan?

1. Dayanand Saraswati / GAT-g TRl
2. Raja Ram Mohan Roy / RIS I HigH I
3. Gopal Krishna Gokhlae / TUTel 5807 TRget

4, Mahatma Gandhi / HgTHT ey

Correct Answer :-
« Mahatma Gandhi / AgTHT Tieht

42) The process of transferring the income from asset owning people to non-asset owning people is
./ IREURT & AT S BT RURURT & FITHE I TR | ST RIFTRT B 31 Afhar-
gl

1. Vicious cycle effect / g&dsh YHIA
2. Trickle-down effect / TU RigI ([¢h -S89 UHTd)
3. Balanced growth strategy / ?Rji%‘l?l q@ RUEIIR]

4. Lorenz curve / ANl dh

Correct Answer :-

+ Trickle-down effect / €UHh Rigd (fChd-S13 Uuma)
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43) The Members of Parliament are free to raise any matter that they think is important during

./ P IR e & G fhet oft 39 A B I3 F g T gid @
oY 38 e 3 {6 wewayuf 31

1. Question Hour / U4 b Tc]

2. Adjournment Motion / I YIdTd
3. Half -an-hour discussion / 3T ¢ °c Pl Eﬁﬁ

4. Zero Hour / J[UhTcT
Correct Answer :-

+ Zero Hour / R[UDI

44) Which among the following rivers is most described in the Rig Veda? / Ffafafead a

S A 1) Hrdg | g fw afvfa g2
1. Ganga / T

2. Sindhu / Y

3. Saraswati / TRl

4. Chenab / foFTE

Correct Answer :-

. Sindhu /&Y

45) Who among the following is the author of “Ain-i-Akbari”? / frafafead “3HTg-U-

BN BT RGP P 8?2
1. Ishwar Das /‘s‘%ﬂaﬂq
2. Abul Fazl / T tholcl

3. Mulla Daud / Heell ¢l a
4, Akbar / bR

Correct Answer :-

+ Abul Fazl / 3dc] Thyfel

46) is a system where by the farmers pool their milk produced according to different grading
and it is processed and marketed to urban centres through cooperatives. / wﬁqrhauaw%as‘f
R SrenT-31erT Auft & SR U IcUTied gY BT VIGUT HYd & SR 3H TghRI Afufaal & areay
TaTfid vd et di ° fassa frar s 21


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

1. Operation Mantra / 3iTa¥<H H3
2. Operation Torrent / 3{TORYH €T
3. Operation Serve / TR 99

4. Operation Flood / STRTA TS

Correct Answer :-
e QOperation Flood / SHTIRTA TS

47) Which of the following banks installed the first ATM in India? / fafrfRad 3 fPadea yRa d
Uzl geieH witfua fasar?

1. ICICI / 3TsT3msTtam

2. HDFC / T SIumy!
3. Yes Bank / pirs| %

4, HSBC / TUgat

Correct Answer :-

« HSBC /TIusERt

48) The Road Back to Nature is a book discussing the global ecology and destructive farm practices. Who

is the author of this book? / ﬁ??ﬁgmuﬁw&ﬁ?m?ﬁq&ﬁﬁw
Tl $X 3G TP [Xa® ¢ | 59 T&IP b AGd DI 82

1. Bill Mollison / fS@ Hifera
2. Albert Howard / &Iﬁé E'Iaé
3. Eliot Colman / Qﬁ‘ltl_cr AL

4. Masanobu Fukuoka / FITq B 3]

Correct Answer :-

« Masanobu Fukuoka / FRTg B3I

49) The learning strategy which is associated with 5 E's (Engage, Explore, Explain,

Elaborate and Evaluate) model is: / 3ifeRTH YU &t 5 § & T4 JS1 g3 © (HaH, A9y,
rETT, faaR iR geuie) Hisd &:

1. Constructivism / IFTAIG
2. Social inquiry model / BIEIEED PELIE) Hred
3. Branching programming / IR URITHA

4. Team teaching / €1 TRI&0T


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

Correct Answer :-

« Constructivism / GGG

50) The process of collecting, analyzing, recording and interpreting information about

student learning is known as: /W% m%mﬁﬁmmﬂ)ﬂﬁ, fazafa
B, NP8 B SR faga w31 &1 ufspan &1 f= wer s &:

1. Role play / I
2. Assessment / HTh
3. Testing / WRIeor

4. Dramatization / TP FUIdR

Correct Answer :-
o Assessment / HTh I+

51) To choose appropriate teaching strategy, the teacher considers which of

the following factors? / Iugad fR&ur I g7 & fore, Riere fFafafea d a
9 R R faR Fra1 g2

1. Sports/cultural days in the school / ¥l | @ﬁﬂm feaq
2. Visits by inspecting authorities / fRYeqor HfeRTRAT GRT YHT
3. Abilities of the learners / FRI&TRIAT @1 Fvaardt

4. Year Plan given by the school / faemea gridl T|€ CLRIERI]

Correct Answer :-

« Abilities of the learners / fﬁr&rﬁq‘r AR ID

52) The term “brainstorming” was first coined by: / e "AIR-HY" Jad UB’?[
ST GRT UId fovar ar 4T :

1. Osborn / 3{&

2. Johnson / S8

3. Caldwell Cook / dTesdd b
4. Bruner / -1

Correct Answer :-

« Osborn / 3NaT


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

53) Idealism strongly promotes: / 3TeRIaIG Tedl < &I 9graT ear 8

1. Source of knowledge is nature / U id I BT A g
2. Senses are the gateways of knowledge/ HagGTY I & gR gl

3. Axiological belief in absolute values / ¥qUl Tl & STRUTATE! faym™
4. There are many truths as there are many paths / &% 9d g FIfP &3 I &

Correct Answer :-

« Axiological belief in absolute values / “vT'{UT 11?\‘?[ T 3fryrare! fayrg

54) To attend the individual differences in the class, what should the teacher of Social

Science do? /$&nﬁwmsraﬁaﬁﬂn§rﬁa?ﬁm,wﬁwﬁaﬂmﬁr&m -

1. Uses variety of learning experiences / [af¥a S{fSRTH 31T BT IUTNT HRaT 5 |

2. Gives different types of assignments / faf¥T THR & 3rrgTHe (Fd=n aarg|

3. Conducts tests end of the week / JKIIS & g H Qﬁ&‘m SMford Hdl %l

4. Makes sure all the students are present everyday / I8 g3 &l & [ T B & I IURIA
Gl

Correct Answer :-

o Uses variety of learning experiences / fafert sifermy 3‘@“—@ BT SUINT Bl %|

55) The teacher shows photo copies of the letters written by Mahatma Gandhi while
teaching a lesson on the struggle for Independence to: / Rrere adzan gy U= UTe tl%'l%
BU Wt M gRT ford T wH 1 wiet wifval sHfee i 8

1. Supplement the concepts with facts / T & 1Y YRS Bl \_Yﬁ?:%f & fo

2. Adopt deductive approach / BHUEIECY PP 3T & fam|

3. Use problem solving procedures / THIT JHTYTT ATl &1 TN &= o g
4. Execute a project / BIRISE| (m &I feTfed ® & forg

Correct Answer :-

 Supplement the concepts with facts / ql o TTY STYUROMSA B FI»-|3_ Ek:] fam

56) Who set up the Indian Independence League? / YR Taa=dr o fea wifua &1
1. Dadabhai Naoroji / EfIET?-ITsc RGN
2. Rashbehari Bose /Wﬁ%ﬁm


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

3. B.R.Ambedkar / §1.3R. S H
4.Mahatma Gandhi / HgTHT TMieh

Correct Answer :-

« Rashbehari Bose / Wﬁ?ﬂ'\ﬁ IR

57) CANCELLED

Which of the following is metamorphic rock? / Frafafeaq & 9 sraiaia G| Capk| %?
1. Marble / HTTHRAR

2. Sandstone / I3 YR

3. Mica / S{Hdh

4. Schist / R

Correct Answer :-

. Schist/ R

58) CANCELLED

Ajanta Paintings represent the scenes from: / 3reiar & = T & =l &t Hlﬁ %
1. Jatakas / SIhTdl

2. Mahabharata / HETHIRd

3. Ramayana / XTHIYU]
4. Upanisads / 3UYG

Correct Answer :-

« Jatakas / SIhTdI

59) EBP stands for: / SaUl @7 faxqgd ¥ g:
1. Evidence Based Practice / Eﬁ@:ﬂ aTe Ufdey

2. Evidence Based Problem / Tf[dS~g 9¥8 UleciH
3. Education Based Practice / Q§$Q 7 9% Ofdeq
4. Education Based Problem / Tgh Y %8 Wlscid

Correct Answer :-

» Evidence Based Practice / @%TH s%e dfdeg


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

60) Density of population is computed by which of the following method. / STEEIT & e

ot T g A J fore faftr grr &Y ot 31
1. Female population divided by area / &Fhd gR1 fauTiord Afger SHiRe
2. Male population divided by area / &A% d gRT [AUTIOId TS SIHRIREAT

3. Area divided by total population / ST gIRT faHTfSId & d
4. Total Population divided by area / & d GRT fAHTRId Pt STHIRSAT

Correct Answer :-

+ Total Population divided by area / A gRI fauTford P SIS
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